N —
- % MIGH VOmAGH — 1¢ [ |

Ly

—[ - HIGH VOITAG
=

40’ POLE\

Hi<

M

DR RGN NG DRI VRO
I N NSNS BRSNS A NN AN
SPEC. GROUP: 2025 RODEO REV. DATE: REV. NO:
& 10/29/24 1
chvor \Vi DRAWING NO.
ROSEYILLE 2025 APPRENTICE
CALIFORNIA OBSTACLE COURSE C. MALONE

Electric Utility

1 of 2



AutoCAD SHX Text
SPEC. GROUP:

AutoCAD SHX Text
REV. DATE:

AutoCAD SHX Text
REV. NO:

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
2025 APPRENTICE

AutoCAD SHX Text
OBSTACLE COURSE

AutoCAD SHX Text
1

AutoCAD SHX Text
10/29/24

AutoCAD SHX Text
C. MALONE

AutoCAD SHX Text
2025 RODEO

AutoCAD SHX Text
1 of 2

AutoCAD SHX Text
33'

AutoCAD SHX Text
28'

AutoCAD SHX Text
22'

AutoCAD SHX Text
40' POLE

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
D

AutoCAD SHX Text
G

AutoCAD SHX Text
H


LETTER  QTY STOCK NO  ITEM

A 1 10114 CROSSARM, 8 FT HD, DEAD END, SPEC-90
1 10065 BOLT, CROSSARM, 5/8 IN X 20 IN (OR FIT LENGTH REQUIRED)
1 10222 WASHER, SPRING, 5/8”
1 10223 WASHER, SQUARE, 2—1/4 IN, 5/8 IN HOLE
2 10188 SIGN, HIGH VOLTAGE, YELLOW PLASTIC
B 1 10115 CROSSARM, 8 FT STD, TANGENT ARM, SPEC—90
1 10065 BOLT, CROSSARM, 5/8 IN X 20 IN (OR FIT LENGTH REQUIRED)
1 10222 WASHER, SPRING, 5/8”
1 10223 WASHER, SQUARE, 2—1/4 IN, 5/8 IN HOLE
2 10188 SIGN, HIGH VOLTAGE, YELLOW PLASTIC
C 2 10080 CROSSARM BRACE, FLAT, 1/4 x 32
2 10057 BOLT, CARRIAGE, 3/8 IN x 6 IN
1 19141 BOLT, CROSSARM, .50 IN x 10 IN
1 10516 WASHER, SPRING, 1/2 IN
D 1 10436 INSULATOR, DEADEND, SUSPENSION
1 10085 CLAMP, DEADEND, NO.6 — 2/0 ACSR
1 10222 WASHER, SPRING, 5/8"
1 20139 BOLT, EYE, 5/8 IN X 6 IN
E 1 10121 CUTOUT, FUSED 100 AMP, 7.8/15KV, DROPOUT
F 1 10162 INSULATOR, PIN TYPE, 12kV POLYMER, HENDRIX HPI—55—4
1 10163 INSULATOR PIN, 5/8 IN NYLON HEAD
1 10222 WASHER, SPRING, 5/8 IN
G 1 20139 BOLT, SHOULDER EYE, 5/8 IN X 6 IN
1 10222 WASHER, SPRING, 5/8 IN
H 1 E.D. L BRACKET FOR CUTOUT

REV. DATE: REV. NO:

08/27/24 1

SPEC. GROUP: 2025 RODEO

&
CITYOF  ~\¥
BAOSEY“.I.E 2025 APPRENTICE SRAVING N0

LIFORNIA
OBSTACLE COURSE
Electric Utility C. MALONE

2 of 2



AutoCAD SHX Text
SPEC. GROUP:

AutoCAD SHX Text
REV. DATE:

AutoCAD SHX Text
REV. NO:

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
2025 APPRENTICE

AutoCAD SHX Text
OBSTACLE COURSE

AutoCAD SHX Text
1

AutoCAD SHX Text
08/27/24

AutoCAD SHX Text
C. MALONE

AutoCAD SHX Text
2025 RODEO

AutoCAD SHX Text
2 of 2

AutoCAD SHX Text
LETTER

AutoCAD SHX Text
QTY

AutoCAD SHX Text
STOCK NO

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
10114

AutoCAD SHX Text
CROSSARM, 8 FT HD, DEAD END, SPEC-90

AutoCAD SHX Text
1

AutoCAD SHX Text
10065

AutoCAD SHX Text
BOLT, CROSSARM, 5/8 IN X 20 IN (OR FIT LENGTH REQUIRED)

AutoCAD SHX Text
1

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8"

AutoCAD SHX Text
1

AutoCAD SHX Text
10223

AutoCAD SHX Text
WASHER, SQUARE, 2-1/4 IN, 5/8 IN HOLE

AutoCAD SHX Text
2

AutoCAD SHX Text
10188

AutoCAD SHX Text
SIGN, HIGH VOLTAGE, YELLOW PLASTIC

AutoCAD SHX Text
B

AutoCAD SHX Text
1

AutoCAD SHX Text
10115

AutoCAD SHX Text
CROSSARM, 8 FT STD, TANGENT ARM, SPEC-90

AutoCAD SHX Text
1

AutoCAD SHX Text
10065

AutoCAD SHX Text
BOLT, CROSSARM, 5/8 IN X 20 IN (OR FIT LENGTH REQUIRED)

AutoCAD SHX Text
1

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8"

AutoCAD SHX Text
1

AutoCAD SHX Text
10223

AutoCAD SHX Text
WASHER, SQUARE, 2-1/4 IN, 5/8 IN HOLE

AutoCAD SHX Text
2

AutoCAD SHX Text
10188

AutoCAD SHX Text
SIGN, HIGH VOLTAGE, YELLOW PLASTIC

AutoCAD SHX Text
C

AutoCAD SHX Text
2

AutoCAD SHX Text
10080

AutoCAD SHX Text
CROSSARM BRACE, FLAT, 1/4 x 32

AutoCAD SHX Text
2

AutoCAD SHX Text
10057

AutoCAD SHX Text
BOLT, CARRIAGE, 3/8 IN x 6 IN

AutoCAD SHX Text
1

AutoCAD SHX Text
19141

AutoCAD SHX Text
BOLT, CROSSARM, .50 IN x 10 IN

AutoCAD SHX Text
1

AutoCAD SHX Text
10516

AutoCAD SHX Text
WASHER, SPRING, 1/2 IN

AutoCAD SHX Text
D

AutoCAD SHX Text
1

AutoCAD SHX Text
10436

AutoCAD SHX Text
INSULATOR, DEADEND, SUSPENSION

AutoCAD SHX Text
1

AutoCAD SHX Text
10085

AutoCAD SHX Text
CLAMP, DEADEND, NO.6 - 2/0 ACSR 

AutoCAD SHX Text
1

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8"

AutoCAD SHX Text
1

AutoCAD SHX Text
20139

AutoCAD SHX Text
BOLT, EYE, 5/8 IN X 6 IN

AutoCAD SHX Text
E

AutoCAD SHX Text
1

AutoCAD SHX Text
10121

AutoCAD SHX Text
CUTOUT, FUSED 100 AMP, 7.8/15KV, DROPOUT

AutoCAD SHX Text
F

AutoCAD SHX Text
1

AutoCAD SHX Text
10162

AutoCAD SHX Text
INSULATOR, PIN TYPE, 12kV POLYMER, HENDRIX HPI-55-4

AutoCAD SHX Text
1

AutoCAD SHX Text
10163

AutoCAD SHX Text
INSULATOR PIN, 5/8 IN NYLON HEAD

AutoCAD SHX Text
1

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8 IN

AutoCAD SHX Text
G

AutoCAD SHX Text
1

AutoCAD SHX Text
20139

AutoCAD SHX Text
BOLT, SHOULDER EYE, 5/8 IN X 6 IN

AutoCAD SHX Text
1

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8 IN

AutoCAD SHX Text
H

AutoCAD SHX Text
1

AutoCAD SHX Text
E.D.

AutoCAD SHX Text
L BRACKET FOR CUTOUT


	Sheets and Views
	2025 APPRENTICE OBSTACLE COURSE V2-8x11
	2025 APPRENTICE OBSTACLE COURSE V2-MASTER TABLE DRAWING


